- \e c\'n (‘_DJ ach e r-~T] Q P Code 50056
- (3 Hours) [Total Marl{s 80]

(.1 is compulsory.

Solve ANY THREE questions out of remaining.
Q.1 Auswer ANY FOUR. R SR 5 czmvrarks 3
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a) Mention types of winding used 1n transft)rmer dlld cxplam a,ny one 111 deta:,il
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¢) List out the conditions to be satisfied for Succewful paralld opera,uon Q£ thl“ee phase tranqw
formers. % o Tl PN P B

d) Explain any one connection of phasor group number 4 n (,a,se of three phabe transformer

» ¢) Write down the desirable propertle‘s of magnetlc 111&'((‘1‘1&.18 u%e_’{_,r mfclectllc ma,chme cdesign.
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a) Derive an expression for (swmg m copper m (:abe of a,uto—tran‘sf@rmer ,-as uompared to con-
ventional tmanormt-*r ekl O w8 W s
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Explain ‘Sumpner TeSt 111 detaﬂ WIth dlagram
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a) Write a short note on ‘S cattCennectlon’ g

b) Two 3 pha,bu tranbfoum,lb havmg bELIIl(, tumb ratm a,re connected in parallel to supply a
load of 800 LW at. 0 8 power ffx.ctor 1agg1ng Transformer ‘A’ 1s rated at 400 KVA with per
unit reslgta,nce of 0. 0‘2 and g per umt reactance of (4 04 transformer ‘B’ is rated at 600 KVA
with per 11111‘( I’E‘Sl%tdﬂ(‘(—‘ of O 01 and per um’f IeactaHCP of 0.05. Determine power output
and pawerl factor of earh trallsforlller o
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'ff.g_)l_E}Lpla,m ‘rhe assumptm’ﬂs made m 1eakage reactance calculation of three phase core type
__ _:transformer R G

.'_-7_,;_...;""’_;}nte a, short note on mechamcal forceb in transformer.
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a) A bmgle pha,se 50 I\VA 24.0 / 120 V transformer gave following results:
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Open Clrcmt test 120V 965 A 396 W on LV side
Short C1rcu1t test 92V 20.8 A 810 W on HV side
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Determlne the equwalent circult parameters, and voltage regulation at full load, 0.8 power
factor Iaggmg

-( ) VVI 1’((, a bhOIt not(, on ‘Oscillating neutral’.
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Q.6

a) Derive output equation for a 3 phase transformer. Also me’ﬁtioﬁs:':meamng of ter

b) Calculate approximate overall dimensions for & 200 KVA 66.0---_’__'.:.5440 V N:, L
type transformer. T a0 T R N
Assume followmg data: EMF per turn 10 V, maximum ﬁux de
density 2.54 /mm?, Window space factor 0.3, overall height = =overall wid
0.9, a =0.9 d and A = 0.6d°, where d is dlameter of ClI’CuIIIE:(,I‘Ib
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